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Section 11.4 COMPARISON TESTS
Section 11.4 #s 1 -20, 29 - 37
The Comparison Test Suppose that = g, and X b, are series with positive terms.
(i) If X b, is convergent and a, < b, for all n, then = a, is also convergent.

(ii) If X b, is divergent and a, = b, for all n, then X a, is also divergent.
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The Limit Comparison Test Suppose that ¥ a, and £ b, are series with positive
terms. If
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where c is a finite number and ¢ = 0, then either both series converge or both

diverge.
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The Limit Comparison Test Suppose that X a, and X b, are series with positive
terms. If
]. an
im— =¢
e bﬂ
where ¢ is a finite number and ¢ > 0, then either both series converge or both
diverge.

40. (a) Suppose that X a, and = b, are series with positive terms
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then * a, is also convergent.

M. (a) Suppose that = a, and = b, are series with positive terms
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B Estimating Sums

P - E4 RING
E;I—,’A,,,\[e é( -3 57 (u/w\mvpj +to l 10 Aerms, % >

- o {
w=ion 4! Gt am uppen Aomd on TLu e
S gudt, Coot-

N> ]

- — °O,
R, =5 — Sp = Ups1 T Qper + 50 < —_V——\‘ & £ - JX

n Xt X

n
¢ (T
T, =t —t, =byy + bya + -+~ - ’)57
n

\

S/ - g T8 o 01781194879 F -

%
4 sy a4 )LL
o2
dy !

owcl s o ke bound o1 enrn
Dx 0
{



11-4-notes.notebook November 23, 2015

1. Suppose = a, and < b, arc serics with positive terms and © b, 2 Suppose = a, and % b, are series with positive terms and = b,
is known to be convergent. is known to be divergent.
(a) If a, = b, for all n, what can you say about ¥ a,? Why? (a) IWa, = b, for all n, what can you say about £ a,? Why?
(b) Il @, < b, for all n, what can you say about = a,? Why? (b) If @, < b, for all n, what can you say about > a,? Why?
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3-32 Determine whether the series converges or diverges
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33-36 Use the sum of the first 10 terms to approximate the sum of

10
. . _ 1
the series. Estimate the error. n=10 2 ————/~ 1.248558569
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37. The meaning of the decimal representation of a number
0.d,d.d; . . . (where the digit d, is one of the numbers 0, 1,

2,...,9)1s that
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Show that this series always converges.
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